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Problems

17.
SF =0N

1 c0os30—T cos60=0

1 cos30=T, cos60

T =1.73T

2F =0N

150N —T'sin30—(1.737 )sin 60 = 0
150N =27

I =75N

T =130N

19.

SF =T —T, —98N

topblock

SF_ =T —98N

bottomblock

topblock

SF . =ma—T,—T, —98N = (10kg)2.0"~
S

T,—T, =20N +98N =118N



26.

bottomblock

SF._ . =ma—>T,—98N =(10kg)2.0 ™~
S

T =118N

T =236N
m

W =mg =10kg #9.81= = 98.1N
S

W, =mg =5kg©9.81"~ = 49.05N
S

2,

W, =W,c0s40.0°=37.57N
_mg-T

W, . =Wsin40.0°=31.53N

al
ml
T o WZ,pamllel T - ng Slne
aZ = =
mZ m2
a =da,

mg—T T-mgsin0

ml mZ
mmg—-mT =mT —mmgsinf
mmg+mmgsind=mT +mT

mmg(l+sin@)=(m +m, )T



(50kg” )(9.81"3)(1 +5in 40°)
S

T mmg(l+sing)
(m +m,) 15kg
805.79%g" "
T = S =537N
15kg
27. a
a« _XF :42N:7‘0ﬂ
T m 6kg S
b.
42N -T
a3k -
) 3kg
T
alk +3k -,
4 4 3kg
a3kg - alkg+3kg
2N-T T
3kg 3kg

(42N —T)3kg = T3kg
126 Nkg = 6kgT
T =21IN

F =ma

F=2kge7=14N
S



